<?xm version="1.0" encodi ng="UTF-8"?>
<Subm ssi on xmIns:xsi="http://www.w3.0rg/2001/XMLSchema-instance""
xsi:noNamespaceSchemalocation=""layout.xsd">
<T619>
<trnmtr_nbr>nml11111</trnntr_nbr>
<sbnt _ref_i d>Vos données</sbm _ref _id>
<trnmtr_tcd>1l</trnntr_tcd>
<summ cnt >0</ sunm _cnt >
<TRNMTR_NW>
<l 1_nmVos données</| 1_nnp
<l 2_nnm>Vos données</I| 2_nn»
</ TRNMTR_Nw>
<TRNMTR_ADDR>
<addr | 1_t xt>Vos données</addr |1 txt>
<addr _| 2_t xt >Vos données</addr _| 2_t xt>
<cty_nnmpVos données</cty_nme
<cntry_cd>111</cntry_cd>
<prov_cd>ON</ prov_cd>
<pstl| _cd>Vos données</pstl _cd>
</ TRNMTR_ADDR>
<CNTC>
<cnt c_nnm>Vos données</cntc_nnp
<cntc_area_cd>000</cntc_area_cd>
<cnt c_phn_nbr >000- 0000</ cnt c_phn_nbr>
<cntc_extn_nbr>0</cntc_extn_nbr>
<cntc_emmil _area>Vos données</cntc_emni | _area>
</ CNTC>
<rpt_tcd>A</rpt_tcd>
<l ang_cd>E</| ang_cd>

</ T619>
<Ret ur n>
<T5>
<T5Sl i p>

<RCPNT_NMW>
<snm>Vos données</snnp
<gvn_nnkVos données</gvn_nmnp
<init>A</init>

</ RCPNT_NW>

<SEC_RCPNT_NW>
<sec_snmnm>Vos données</sec_snnp
<sec_gvn_nnmrVos données</sec_gvn_nnmp
<sec_init>A</sec_init>

</ SEC_RCPNT_NM>

<si n>000000000</ si n>

<sbrn_r oot >000000000</ sbr n_r oot >

<BUS_NM>
<I 1_nnm>Vos données</|1_nm»
<| 2_nnmpVos données</| 2 _nne

</ BUS_Nw>

<RCPNT_ADDR>
<addr _| 1_t xt >Vos données</ addr _| 1_t xt>
<addr _| 2_t xt >Vos données</ addr _| 2_t xt >
<cty_nnpVos données</cty_nmnp
<cntry_cd>AAA</cntry_cd>
<prov_cd>ON</ prov_cd>
<pstl _cd>Vos données</pstl_cd>

</ RCPNT_ADDR>
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<filr_nbr>AA0000000</filr_nbr>
<rcpnt _fi _br_nbr>Vos données</rcpnt_fi _br_nbr>
<rcpnt _fi _acct _nbr>Vos données</rcpnt _fi _acct_nbr>
<rpt_tcd>A</rpt_tcd>
<rcpnt _tcd>1</rcpnt_tcd>
<fgn_crcy_ind>Str</fgn_crcy_i nd>
<T5_AMI>
<act!| _dvnd_ant >0. 00</ act| _dvnd_ant >
<t x_dvnd_ant >0. 00</t x_dvnd_ant >
<dvnd_t x_cr_amt >0. 00</ dvnd_t x_cr_ant >
<cdn_i nt _ant >0. 00</ cdn_i nt _ant >
<ot h_cdn_i ncant >0. 00</ ot h_cdn_i ncant >
<f gn_i ncant >0. 00</ f gn_i ncant >
<fgn_tx_pay_amnt >0. 00</fgn_t x_pay_ant >
<cdn_r oyl _ant >0. 00</ cdn_r oyl _ant >
<cgai n_dvnd_ant >0. 00</ cgai n_dvnd_ant >
<acr_annty_ant >0. 00</ acr _annty_ant >
<rsrc_al wnc_ant >0. 00</rsrc_al wnc_ant >
<cgai n_dvnd_1_ant >0. 00</ cgai n_dvnd_1_ant >
<cgai n_dvnd_2_amnt >0. 00</ cgai n_dvnd_2_ant >

</ T5_AMI>
</ T5Sl i p>
<T5Sl i p>

<RCPNT_NMW>

<snm>Vos données</snnp
<gvn_nnkVos données</gvn_nmnp
<init>A</init>
</ RCPNT_NM>
<SEC_RCPNT_NMW>
<sec_snn>Vos données</sec_snne
<sec_gvn_nnrVos données</sec_gvn_nne
<sec_init>A</sec_init>
</ SEC_RCPNT_NM>
<si n>000000000</ si n>
<sbrn_r oot >000000000</ sbr n_r oot >
<BUS_NW>
<I 1_nnm>Vos données</|1_nm»
<l 2_nm>Vos données</12_nnw
</ BUS_Nw>
<RCPNT_ADDR>
<addr _| 1_t xt >Vos données</addr _| 1_t xt>
<addr _| 2_t xt >Vos données</addr _| 2_txt>
<cty_nnpVos données</cty_nmp
<cntry_cd>AAA</cntry_cd>
<prov_cd>ON</ prov_cd>
<pstl _cd>Vos données</pstl_cd>
</ RCPNT_ADDR>
<filr_nbr>AA0000000</filr_nbr>
<rcpnt _fi_br_nbr>Vos données</rcpnt_fi _br_nbr>
<rcpnt _fi_acct_nbr>Vos données</rcpnt _fi _acct_nbr>
<rpt_tcd>A</rpt_tcd>
<rcpnt _tcd>1</rcpnt_tcd>
<fgn_crcy_ind>Str</fgn_crcy_i nd>
<T5_AMI>
<act| _dvnd_ant >0. 00</act| _dvnd_ant >
<t x_dvnd_ant >0. 00</t x_dvnd_ant >
<dvnd_t x_cr_ant >0. 00</dvnd_tx_cr_am >



</ T5>
</ Ret ur n>
</ Subm ssi on>

<cdn_i nt _ant >0. 00</ cdn_i nt _ant >
<ot h_cdn_i ncant >0. 00</ ot h_cdn_i ncant >
<f gn_i ncant >0. 00</ f gn_i ncant >
<fgn_tx_pay_ant >0. 00</fgn_t x_pay_ant >
<cdn_r oyl _ant >0. 00</ cdn_r oyl _ant >
<cgai n_dvnd_ant >0. 00</ cgai n_dvnd_ant >
<acr_annty_ant >0. 00</ acr _annty_ant >
<rsrc_al wnc_ant >0. 00</rsrc_al wnc_ant >
<cgai n_dvnd_1_ant >0. 00</ cgai n_dvnd_1_ant >
<cgai n_dvnd_2_ant >0. 00</ cgai n_dvnd_2_ant >
</ T5_AMI>
</ T5Sli p>
<T5Summary>
<filr_nbr>AA0000000</filr_nbr>
<FI LR_NM>
<l 1_nn»Vos données</1 1 _nmw
<l 2_nnm»Vos données</12_nm>
<l 3_nnm»Vos données</| 3_nm>
</ FI LR_Nw>
<FI LR_ADDR>
<addr | 1_t xt >Vos données</addr |1 txt>
<addr _| 2_t xt >Vos données</addr _|2_txt>
<cty_nnpVos données</cty_nm>
<cntry_cd>AAA</cntry_cd>
<prov_cd>ON</ prov_cd>
<pstl| _cd>Vos données</pstl _cd>
</ FI LR_ADDR>
<CNTC>
<cnt c_nmkVos données</cntc_nne
<cntc_area_cd>000</cntc_area_cd>
<cnt c_phn_nbr >000- 0000</ cnt c_phn_nbr >
<cnt c_extn_nbr>0</cntc_extn_nbr>
</ CNTC>
<filr_fi_br_nbr>abcdefgh</filr_fi_br_nbr>
<t x_yr>2000</tx_yr>
<sl p_cnt>0</sl p_cnt>
<bn>000000000AA0000</ bn>
<rpt_tcd>A</rpt_tcd>
<T5_TAMI>
<tot_act!| _dvnd_ant >0. 00</tot _act| _dvnd_ant >
<tot_tx_dvnd_ant >0. 00</tot _tx_dvnd_ant >
<tot _dvnd_tx_cr_ant>0.00</tot_dvnd_tx_cr_am >
<tot _cdn_int_ant>0.00</tot_cdn_int_ant>
<totr_cdn_i ncant >0. 00</totr_cdn_i ncant >
<tot _fgn_incamt >0.00</tot_fgn_i ncant >
<tot_fgn_tx_pay_anmt >0.00</tot_fgn_tx_pay_ant>
<tot_cdn_royl _ant >0. 00</tot _cdn_royl _ant >
<t ot _cgai n_dvnd_ant >0. 00</t ot _cgai n_dvnd_anmnt >
<tot _acr_annty_ant >0. 00</tot_acr_annty_ant >
<tot_rsrc_alwnc_ant>0.00</tot_rsrc_al wc_ant>
</ T5_TAMT>
</ T5Sunmmar y>



